Assignment — Web Technologies (part 1)

Ans — 1 — Layout using DIV

1 <html>

2 <head»<title> CDA </title>

3 [ <style>

4 body{margin: Opx;padding: Opx;}

“n

c
16 |+ </style>

17 - </head>

18 H<body>

159 <div id="header"> Header </div>
20 <div 1d="Nav"> Nav</div>

21 <div 1d="content"> Content </div>
22 <div 1d="Sidebar"> Sidebar </div>
23 <div 1d="Footer"> Footer </div>

25  L</body>
26 L</ntml>

b #header{width:100%; height:80px; border:1lpx sclid; text-align:center; Position:absclute;}

#Nav{width:20%; height:70%; border:1px sclid; text-align:center; Position:absclute; margin-top:80px;}

10 #content{width:60%; height:70%; border:1px solid; text-align:center; Position:abscolute; margin-top:80px; margin-left:20%;}
#Sidebar{width:20%; height:70%; border:1lpx solid; text-align:center; Positicn:absclute; margin-top:B0px; margin-left:80%;]

14 #Footer{width:100%; height:80px; border:1px sclid; text-align:center; Position:absclute; margin-top:500px; }




Ans — 2 Table Using HTML
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H<html>
H<head:>
<title> CCA 104: TABLE IN HTML </title>

H<head>
H<body>
= <table border="1px"width="100%">
E <tr>
<th>H1 </th>
<th>H2 </th>
<th>H3 </th>
- </tr>
= <tr >
<td rowspan="2"><center> Cl </center></td>
<td colspan="2"><center> C2 </center></td>
- </tr>
= <tr>
<td><center»> C3 </center> </td>
<td»<center> C4 </center></td>
- </tr>
</table>
-</body>
< /html>




